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4. The following random samples are measurements of the heat-producing capacity
(in millions of calories per ton) of specimens of coal from two mines:

Mine 1. 82380 8,180 8500 7840 7990
Mine 2: 7660 7510 7910 8070 7,790

Use the 0.05 level of significance to test whether the difference between the
means of these two samples is significant. 12 %)
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1 2 3 4 5 5 7 B 9
1| 161,448 199,500 215.707 224.583 230,162 233.986 236.768 238 883 240.543
2] 18,5226 19.0000 19.1642 19.2468 19.2964 19.3295 19,3532 15.3710 15.3B48
3] 10.1280 9 _.%%21 8. 2766 9.1172 9.0135 B.9408 B BEET 8.84352 E.B123
df 7.70B6 6.9443 6.5914 6.3882 6.2561 6.1631 6.0942 6.0410 S_9588
fa— 5 6.607% 5,7E61l S.409%5 S5.1922 5.0503 4.95503 d4.875%9 4_B183 4.7725
6Bl S.9B74 5.1433 4.7571 4.5337 4.3874 4.2B3% 4.20687 4.1468 4.09504
‘& 7 5.5514 4.7374 4_3468 4.1203 31.9715 3I.BEED 3I_.TETO 3.7257 3.6767
B 5.3177 4.45%0 d4.0662 3.83749 3I.68B75% 3I.5B06 3I_5005 3_.4381 3_38B1
ﬁ 9] 5.1174 4.2565 3.8625 3,6331 3.4B17 3.3738 3.2927 3.2296 3.1789
1o d.9646 4.1028 3.7083 3.47A0 3.3258 3.2172 33,1355 3.0717 3.0204
& 11| 4.8443 3.9B23 3.5874 33567 3.203%9 3.0946 3.0123 2.5948B0 2.8962
fi : 12| 4.7472 3.B853 3.4503 33,2592 3,1059 2.9%61 2.9134 2_EB4BE 2.7964
131 4.6872 3_B056 3.4105 3.1781 3.0254 2.9153 2.B321 2.7669% 2.7144d
14| 4.6001 3.7389 3.34735%  3.1122 2.9582 2.B477 2.7642 2.E987 2.645B
n 15 4£.5431 3.6823 3.2874 3.055%6 2 9013 2.790% 2.T7066 2.6408 2.S5BTH
16| 4.4940 3.6337 3.238B9 3.0069 2.8524 1.7413 2.6572 2.5911 2.5377
17 4.4513 3.5915 3.1%68 2.9647 2.B100 2.6%87 2.6143 2_5480 Z2.4943
18 d.413%9 3.5546 31589 2.9277 2.772% 2.6613 2.5767 2.5102 2.4563
1% 4.3B07 3.5219 3.1274 2.89%51 2.7401 2.628B3 2.5435 2.478B 2.4227
20| 4.3512 3.4928 3.0984 2.B661 2.7109 2.58590 2.5140 2.4471 2.3528
(2 a=0.025
T
 F A& Amnm
1 2 3 4 5 6 7 8 9
1| 647 .78% 799,500 864,163 BH99,583 321 .848 537_111 946.217 956,656 963 . 287
2| 3B.5063 390000 35.1655 35 2484 39.2982 39.3315 39,3552 39_3730 39,3860
3|17.4434 16. 0441 15.43592 15,1010 14. 8848 14.7347 14. 6244 14.5399 14_4731
,9- 4)12.2179 10.6491 9.9792 9. 6045 9_3645 9.1973 9.0741 H8.9796 B.9047
5 10.0D07 B.4338 T7.7636 7T.3879 7.1464 6.9777 E6.BHS31 6.7572 &.6811
_& & B.8131 7.259% 6.55B8 6.2272 5.9876F 5. 8198 S5.6955 S_S9%6 5.5234
7l B.DT72T 6.541% S5.BBY9E 5.5226 5 _2B%2 S5.1186 4.9949 4.B89%3 4.E8232
E] Bl 7.570% 6.059% 5.4160 5. 0526 4.80173 4.6%17 4.%286 4.4333 4.131572
9| 7.2093 S_.7147 S5.0781 4.7181 4.4844 4.2313%7 4.1970 4.1020 4.0260
[b 10 6.9367 S5.4564 4.8256 4. 4683 £.2381 4.0721 3.9498 3I_854% 3.7790
11] &6.7241 5.25%9 4.6300 4£.2751 4.0440 3. 8B07 3I.758BE 3 _ 6638 3I_SETS
B | 12| 6.5538 5.0959 4.4742 4.1212 3.8911 3.7283 3.6065 3.5118 3.4358
13) 6.4143 4.9653 4.3472 3.9959 13,7667 3.6043 3.4827 3, 3IRE0 3.3120
ld4] 6.2597% 4.8567 4.2417 3. B%19 3.6634 3.5014 3.3799 3 _IES53 3.32093
1% 6.19%5 d4.7650 4.1528 3.8043 3.5764 34147 3.2934 3.1987 3.1227
n 16/ 6.1151 4.6867 4.0768 33,7294 3._5021 3I_3406 3.2194 3.1248 3.0488
17| 6.0420 4.618% 4.0112 3. 6648 3_4379 3.2767 3.1556 3.0610 32.9849
18| 5.9781 4.5597 3.9%539 3.6083 13,3820 3.2209% 3.099%9 3.0053 2._9291
1% 5.9216 4.5075 3.5034 3 _%SE7 3.3327 33,1718 3.0509 2.5%63 2_HEQL
200 5.8715 4.4613 3. 8587 3.5147 3.2891 3_12B3 3. 0074 2.9128 2._B3ES




